EAGRAROBREERT — 2 N— ABISH —F

202051828 (K) 23EEHE1H

m C2 #¥5%R4mt ‘ =z # ‘ (rsh] — | & (%) 12300 &
[A&4£] 1 7% :500,000  ~ 2 3#&:140,000  ~ 33#&:70,000 43#%&:50,000™ . 53 :40,000 9
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N NP D P 4 4 ;FSJ%E 1:(1_7).9 1-1-1-1 | 37.5| — 2 471 g%iE (Em)
RiANTz—9I B:RU—LZX¥x—L (42) H—L—+TvIN> Ty—LBRS
P o ihEd :18. —-3-4- . — BAGEE (A
» = it 4 i 1(1‘86 3-3-4-2 | 37.9 3 (4_336) ==l
LNZ—ka1—X B:7LRFTLY— Y e
. . o4 | ENEE 1:19.0 7-7-2-3 | 37.9| — 1 440 | FERE (ER)
318[10| NTFKI=H2Z 56.0 @ 1/2) “10) " ~RTFE-TU
L=F—=29 7 BIRFUTRA=I RENS
s == a7 | WLE#EX 1:19.4 4-4-2-4 |38.4| — 4 551 | REES (ER)
4155 T29 D= 56.0 (2 1/2) (+6) 1Bkt
R:XR—=IN—K—%y b B:XY1—T1> EZHhITT— L
s g st 7 | FEEEA 1:19.4 5-5-6-5 |38.2| — 8 484 | BIEFIER (EH)
EH 6| RFKRF 56.0 (7€) (+6) ) o LPNR A
LV TATIA LR BENTIT RSB wA BIA
o ) 1 mfEA :19. —8-8— X = =x£Ev (BH
61111 |7VIAY2—T— 8 i (1113?/47) 8-8-8-7 |38.4 10 (4_524) K;EE
R:T7ROFLITEL BTy IRAHAR IR =
N NNBRE— . -4~ - FHEIE (EH)
7179 O—H—FJL— % 5 e 171?:§; 2-2-4-6 | 39.0 5 <4+o27) ﬁﬁ;ﬁ (
RHIRT4TTX BT L— hN=ARZ b MY ¢
on  —=p AEE : ~5-7~ — REmfE (FEH)
Y : RELEESPAZ it 6 i3 (11.210/.20) 6-5-7-8 | 38.9 1 (5:)20) i
LA Lk—L B:LTARXT1Tk EliEe)
» 4 7 | FEHEL 1:20.1 10-9-9-9 |38.5| — 6 414 | WciEE (FEH)
opN 4|\ ILIAT 54.0 (1/2) 43 | ) Tr-ZbEva>
RRY—bLYv—=— Bty hb—> hETHIS
— s 5 — Kii—& :20. —11-11- . = IOyEE (Tl
ol =/ 9w —=— # o7 2 1(220)4 11-11-11-11{ 38.4 9 ‘22? s
R:RY—bL¥vy—=— B:E2T7—TL—A4 BRSH UL Tr—L
. 5 | MEEF 1:20.7 9-10-10-10 | 38.9 | — 7 470 | KRE= (EM)
1y 7| 7v~~ @ (o) |8 F-rNx rEs
LB/ v Tqa BINFITYIX i &R
® 1 —F—EBIERL
13=7r= 8,9,2,5,6,3,10,1,7,4,11
23 =7= 8,9,2,5,(3,6),10,1,4,7,11
BEE 8,(5,10),(2,9),6,3,1,4,7,11
41—+ — 8,2,10,5,6,9,1,3,4,7,11
[ N3
BB 8 450/ 714K 2-8 330M e 2-7 1,120 3JEHE 2-8-10 380M
8 B 8 140M 8-10 130M B = 2-8 1,370 K31 8-2-10 4,470
2 1509 2-10 190M B H 8-2 2,070M
10 1009

ARICOVWTRDTEEERROODE. TR LI,




